


What is the reason for an automatic scram when thermal-hydraulic instabilities
are sensed during a partial or complete loss of forced circulation core flow?

The reactor scram avoids exceeding ...

A the MCPR Safety Limit during flux oscillations.

B the MFLPD operating limit due to low coolant flow.
C. the MAPRAT operating limit due to low coolant flow.
D

the Reactor Pressure Safety Limit during flux oscillations.

Answer: A
Answer Explanation:

Correct Answer: Per Basis statement of TS B.3.3.1.3 for OPRM's
“General Design Criteria 10 & 12 require that fuel design limits will not be
exceeded during any condition of normal operation, including the effects
of anticipated operational occurrences, and that power oscillations are
either prevented by design or reliably detected and suppressed”. MCPR
is the thermal limit that is of concern during abnormal operating transients.

Distractor B: The MFLPD thermal limit is in place to prevent fuel damage
during normal operation due to plastic strain on the cladding.

Distractor C: The MAPRAT thermal limit is in place to prevent fuel
damage during accidents when the fuel becomes uncovered, not low
coolant flow. MAPRAT is the thermal limit that is of concern during
accidents, not normal operations or abnormal operating transients.

Distractor D: Flux oscillations can also affect RPV pressure, but not to the
extent that the RPV Pressure safety limit is challenged. This reason is not
included with the purpose of OPRMs.

Reference: TS B.3.3.1.3 Basis, LOA-RR-101 Reactor Recirculation
System Abnormal rev 33 and LP 055, OPRMs,

Reference provided during examination: None
Cognitive level: Memory

Level (RO/SRO): RO
Tier: Group: Tier 1 Group 1

KA Number and Statement: 295001 K3.04
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Knowledge of the reasons for the following responses as they apply to
Partial or Complete Loss of Forced Core Flow Circulation: Reactor
SCRAM

‘ Learning Objective: 55.00.01 Recall the design bases while operating the
OPRM System or on an exam in accordance with the UFSAR and
procedures/student text.

Question Source: Bank
.Question History: Question #1 on the 2010 NRC Exam at River Bend

Question 1 Info

Question Type: Multiple Choice

Status: Active
Always select on test? |No
Authorized for No
practice?

Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10050
User-Defined ID: 055.00.01.01
Cross Reference

Number:

‘ Topic: 295001 K.3.04
KA: 295001 K.3.04
SRO: 3.6
RO: 3.4
Comments:

Question 1 History

=

Exam Appearances:

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

OO0 [|O[0|O|O

Ignore Response:

o
o
o

Avg Points Awarded:

O .

... As % of Point
Value:

‘ Standard Deviation: [0.00
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Associated objective(s):

Given a RRFC System lineup and various plant conditions, evaluate
system indications/responses and determine if the indications/responses
are expected and normal while operating the system, or on an exam in
accordance with the student text and station procedures.

Recall the design bases while operating the OPRM System or on an exam
in accordance with the UFSAR and procedures/student text.
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Operators are performing DC Load shedding IAW LOA-AP-101 "AC SYSTEM
ABNORMAL" during a station Blackout event.

After 6 hours into the event, operators will maintain.....

A. availability of Reactor Building emergency lighting.
B ability to operate Emergency Seal Oil Pump.

C. Plant Process Computer availability.
D

ADS operation.

Answer: D
Answer Explanation:

Explanation: ADS is the correct answer. IAW ATTACHMENT "N" OF
LOA-AP-101 SPECIFIES loads that are never disconnected from the
batteries. and ADS is one of these loads. Since the Fukishima event loss
of power events have high operational validity.

Distractor A: The Reactor Building lighting cabinet is secured within 5.5
hours of a station blackout event, IAW LOA-AP-101 Attachment "N" DC
LOAD SHEDDING plausible because the candidate may assume
importance of RB emergency lighting for personnel safety while
performing actions of Emergency and abnormal procedures in the reactor
building.

Distractor B: The Emergency Seal Oil Pump (ESOP) is secured within 3
hours of a station blackout event IAW LOA-AP-101 Attachment "N" DC
LOAD SHEDDING. This distractor is plausible if the candidate remembers
when the ESOP is secured H2 from the generator seals will escape to the
turbine deck.

Distractor C: In a station blackout condition the Process Computer is
secured within 30 minutes during a station blackout event IAW LOA-AP-
101 Attachment "N" DC LOAD SHEDDING. This answer is plausible if the
candidate assumes the plant process computer is too important for
monitoring of plant equipment in the main control room.

Reference: LOA-AP-101 "AC SYSTEM ABNORMAL" Revision 45
Reference provided during examination: None

K/A Number/IR: 295003 K2.06/ 3.4 3.5
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K/A Statement: Partial or Total Loss of AC Power: Knowledge of the
interrelations between Partial or Complete Loss of AC and the following:

DC electrical loads
Safety Function:6
CFR 41.

PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History: N/A

SRO Justification: N/A

Comments

Question 1 Info

Question Type: Multiple Choice
Status: Active
Always select on test? |No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10115
User-Defined ID: 06.00.16.04
Cross Reference
Number:
Topic: 295003 K2.06
KA: 295003 K2.06
SRO: 3.5
RO: 3.4
Comments:
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Both Units are at full power.
U-2 SBGT is OOS for maintenance.

e Unit 2 has a Loss of Div2 DC
e The Unit-1 NSO notes the U-1 SBGT is in standby.

(1) What LGA will be entered on Unit 1?
(2) What is the correct action/report for the Unit-1 NSO?

A. (1) LGA-001
(2) Start U-1 SBGT

B. (1) LGA-002
(2) Start U-1 SBGT

C. (1) LGA-002
(2) Report U-1 SBGT is unavailable due to the loss of
U-2 Div2 DC.

D. (1) LGA-001
(2) Report U-1 SBGT is unavailable due to the loss of
U-2Div2DC

Answer: B
Answer Explanation:

Explanation: LGA-002 is the correct procedure because on a loss of U-2
Div 2 DC, both Units 1 and 2 VR (Reactor Building Ventilation) will isolate
on a group 4 signal due to the loss of DC power. Group 4 logic is de-
energize to actuate. With both Units VR isolated and VR fans shutdown
and with no SBGT ventilation running, Reactor Building DP will rise to 0"
and that is a LGA-002 entry condition. Starting the U-1 SBGT is the
correct response, and is an Operator Immediate Action IAW OP-LA-101-
111-1002 LaSalle Operations Philosophy Handbook, "If equipment fails to
auto start when required, THEN START the equipment". The reactor
building ventilation is common to both Units and this requires action from
both Unit"s NSO's.
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Distractor A: Entering LGA-001 is incorrect. The correct LGA to enter is
LGA-002 based on a loss of Reactor Building ventilation. This answer is
plausible because a direction from LOA-DC-201 has the Operators scram
U-2 on a loss of DC but the other Unit should remain in operation. The
second part of this distractor is correct because starting the U-1 SBGT is
the correct response, starting the U-1 SBGT is an Operator Immediate
Action IAW OP-LA-101-111-1002 LaSalle Operations Philosophy
Handbook "If equipment fails to auto start when required, THEN START
the equipment”

Distractor C: LGA-002 is the correct procedure because on a loss of U-2
Div 2 DC, both Units 1 and 2 VR (Reactor Building Ventilation) will isolate
on a group 4 signal due to the loss of DC power. Group 4 logic is de-
energize to actuate. With both Units VR isolated and VR fans shutdown
and with no SBGT ventilation running, Reactor Building DP will rise to 0"
and that is a LGA-002 entry condition. Reporting U-1 SBGT is unavailable
is incorrect, the SBGT system initiation logic is de-energize to actuate,
with a failure of U-2 Div 2 DC the U-1 SBGT should be in operation and
per Operator Inmediate Action IAW OP-LA-101-111-1002 LASALLE
OPERATIONS PHILOSOPHY HANDBOOK, "If equipment fails to auto
start when required, THEN START the equipment"

Distractor D: Entering LGA-001 is incorrect, the correct LGA to enter is
LGA-002 based on loss of Reactor Building ventilation. This answer is
plausible because a direction from LOA-DC-201 has the Operators scram
U-2 on a loss of DC but the other Unit should remain in
operation.Reporting U-1 SBGT is unavailable is incorrect, the SBGT
system initiation logic is to de-energize to actuate, with a failure of U-2 Div
2 DC the U-1 SBGT should be in operation and per Operator Immediate
Action IAW OP-LA-101-111-1002 LASALLE OPERATIONS
PHILOSOPHY HANDBOOK , "If equipment fails to auto start when
required, THEN START the equipment".

Reference: LOA-DC-201 rev 16, LGA-002 rev 6
Reference provided during examination: None

K/A Number/IR: 295004 G4.01
K/A Statement:Partial or Total Loss of DC PWR: Knowledge of EOP entry
conditions and immediate action steps

Safety Function: 6
CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:
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SRO Justification: N/A

Comments:

Question 1 Info

TMultiple Choice _

Question Type:
Status: Active
Always select on test? [No
Authorized for N

; o
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10054
User-Defined ID: 415.00.01.01
Cross Reference
Number:
Topic: 295004 G4.01
KA: 295004 G4.01
SRO: 14.8
RO: 4.6
Comments:

|Question 1 History

Exam Appearances:

fo

Student Encouhtérs: )

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

f}%,'o olololololo

__Ignore Response:

Avg Points Awérdyed: ‘

ol
of

... As % of Point
Value:

olo}

Standard Deviation:

o
o
o

Associated objective(s):

Given plant conditions and LGA entry with Reactor Building ventilation
isolated, verify operation of VG and/or VQ, while operating the plant or on

an exam, IAW LGA-VG-101.
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Unit 1 was at 100% power with RR FCV matched at 90% open indication when a
generator lockout occurred.

The Unit scrammed with all rods inserted

EHC Bypass valves failed to respond on turbine trip

HPCS and RCIC actuated to restore reactor level

Reactor level is being controlled per level band of LGA-001 at 20-50
inches

NO other operator action has been taken

What is the status of Reactor Recirculation?

A. Both pumps tripped to zero speed
Both FCV at 90% position

B. Both pumps operating in slow speed
Both FCV at 90% position

C. Both pumps tripped to zero speed
Both FCV at minimum position

D. Both pumps operating in slow speed
Both FCV at minimum position

Answer: A
Answer Explanation:

Explanation: A Generator Lockout will cause the Main Turbine to trip, with
a loss of TSV RETS pressure reactor recirc will receive a EOC-RPT trip
and should downshift to slow speed but if the bypass valves fail to
respond open then reactor level will shrink due to the pressure spike and
cause a level 2 condition in the reactor, this level 2 will be an initiation
signal for the ATWS-RPT logic causing both reactor recirc pumps to trip to
zero speed. In this scenario the reactor recirc flow control valves will
remain in the original position at the start of the event, level 2 is a group 2
PCIS isolation signal which will lock up the flow control valves at the
position in the beginning of the event.

Distractor B: This distractor is plausible because the first trip signal to the
reactor recirculation pump will be the EOC RPT downshift trip but the level
2 signal will trip both pumps to zero speed.

Distractor C: This distractor is plausible because the pumps will trip to
zero speed and there are a number of potential FCV runback signals but
this event would not produce one and the FCV would be unable to run
back due the group 2 level 2 isolation signal.
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Distractor D: This distractor is plausible because the first trip signal to the
reactor recirculation pump will be the EOC RPT downshift trip but the level
2 signal will trip both pumps to zero speed, and there are a number of
potential FCV runback signals but this event would not produce one and
the FCV would be unable to run back due the group 2 level 2 isolation

signal.

Reference: LOR-1H13-P602-A302 rev 4, LOP-CX-06 rev 8
Reference provided during examination: None

K/A Number/IR: 295005 A1.01/ RO 3.1 SRO 3.3

K/A Statement:Main Turbine Generator Trip Ability to operate and/or
monitor the following as they apply to MAIN TURBINE GENERATOR
TRIP: Recirculation System

Safety Function:3
CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

- Comments:

MultjﬂeChonce

Question Type:

Status: | Active

Always select on test? [No

Authorized for No

practice?

Points: 1.00

Time to Complete: 0

lefncult : - -

S stem ID: 10056 ]
User-Defined ID: 071.00.10.01

Cross Reference

Number: ,
Ll e - . -
Topic: 295005 A1.01
KA: 295005 A1.01
SRO: 3.3
RO: 3.1
Comments:
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Question 1 Info

Question Type: Multiplé Choice

Status: Active
Always select on test? |No
Authorized for N

: o)
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10056
User-Defined ID: 071.00.10.01
Cross Reference
Number:
Topic: 295005 A1.01
KA: 295005 A1.01
SRO: 3.3
RO: 3.1
Comments:

Quest stor
Exam Appearances:

Student Encounters:
Answered Right:
Answered Wrong:
Partially Correct:
Answer Invalid:
Unanswered:

Ignore Response:

Avg Points Awarded: {0.00

... As % of Point 0
Value:
Standard Deviation: [0.00

OO0 |Q[|O|O[|O] -

Associated objective(s):

Recall the signals which cause a Main Turbine and Auxiliary Systems
component trip, including setpoints, logic, how and when bypassed and
how reset, and predict system response while operating the system on an
exam in accordance with the student text and station procedures.
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The reason for Setpoint Setdown of the RWLC (Reactor Water Level Control)
System is to:

A. Momentarily lower the reactor water level setpoint when
transferring from three element control to single element control.

B. Lower the reactor water level setpoint when there is only one
feedpump running.

C. Ensure the feedpump turbines do NOT overspeed following a

SCRAM.
D. Help maintain reactor water level below level 8 following a scram.
Answer: D

Answer Explanation:

Explanation:The setpoint setdown functions occurs if level falls below 20
inches and then recovers to above 20 inches or the post scram profile de-
activates. This feature prevents overfeeding the vessel after a scram or if
level drops below 20 inches. For example: When the turbine trips or
MSIV's close the pressure spike causes the voids in the vessel to collapse
and indicated level to drop, feedwater in automatic control would see this

.delta in actual level and level demand, this delta creates a large feedwater

demand signal, the feed pumps will quickly overshoot the demanded level
and level will go high before the feed pumps can respond. The setpoint
set down feature dampens this large level error and allows the system to
slowly bring level back to the level demand signal without overshooting.

Distractor A: this distractor is wrong because level is a bumpless transfer
when operating in either single element, three element or in manual
modes. Each mode of operation tracks the other to ensure level remains
stable, if a mode of operation is changed, level will not change when
swapping in single element control.

Distractor B:Level setpoint is unaffected by the amount of feed pumps
running, there is an interlock that looks at reactor power and available
feedpump capacity, and it affects the reactor recirc system which will run
back the recirculation Flow Control Valves in the close direction, when
reactor power is too high and not there is not enough feed pump capacity
to supply the vessel.

Distractor C: this distractor is wrong because the Turbine Driven Reactor
Feed Pump (TDRFP) high speed stop interlock enforced by the digital
speed control system prevents the TDRFP from overspeeding,
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Reference: LOP-FW-16 1DS001 OPERATOR STATION ALARM
MESSAGE INTERPRETATION rev 27, LOP-RL-01 OPERATION OF THE
REACTOR LEVEL CONTROL SYSTEM rev 21, RWLC lesson plan #31,
Reference provided during examination: None

K/A Number/IR: 295006 K3.04 / SRO 3.3 RO 3.1

K/A Statement: SCRAM: Knowledge of the reasons for the following
responses as they apply to SCRAM: Reactor water level setpoint

setdown.
Safety Function:1
CFR 41.
PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 1

Question Source: Bank

Question History:

SRO Justification: N/A

Comments:
Questioniinfo === == =
Question Type: Multiple Choice
Status: Active
Always select on test? [No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 10.00 - - -
System ID: 10060
User-Defined ID: 031.00.05.04
Cross Reference
Number:
Topic: 295006 K3.04
KA: 295006 K3.04
SRO: 3.3
RO: 3.1
Comments:
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Question 1 History

=

Exam Appearances:

" Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

ololololololo]

Ignore Response:

o
o
of

Avg Points Awarded:

o .

... As % of Point
Value:

Standard Deviation: [0.00

Associated objective(s):

Recall the function, theory of operation, interlocks, trips, and
characteristics of the following Reactor Water Level Control System
components and relate these items to overall system operation while
operating the system or on an exam in accordance with the student text:

FRV M/A Transfer Station

TDRFP M/A Transfer Stations

High Level Reset

Low Flow FRV M/A Transfer Station

FRV M/A Transfer Station Lockout Reset
Level Setpoint Station

Min Flow M/A Station

@000 TD
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The Unit 1 Main Control Room has been evacuated IAW LOA-FX-101 UNIT 1
SAFE SHUTDOWN WITH A FIRE IN THE CONTROL ROOM OR AEER
Procedure.

e Control has been transferred to the Remote Shutdown Panel (RSP).
e The NSO is controlling pressure from the RSP.

Of the following choices, which choice ONLY lists SRVs that are available to use
from the RSP?

A. 1B21-F013H and 1B21-F013K
B 1B21-FO13U and 1B21-F013S
C. 1B21-F013K and 1B21-FO13U
D

1B21-FO13P and 1B21-F013S

Answer: A
Answer Explanation:

Explanation: SRVs, 1(2)B21-F013H, and-FO13K,." is correct. There are
control switches for these SRVs 1(2)B21-F013H, -FO13K, and -FO13P
located on the remote shutdown panel and when control is established at
the RSP (remote shutdown panel) then the emergency transfer switch is
in the emergency position, this reposition of the switch will disconnect the
main control room circuity from the SRV.

Distractor B: This distractor is plausible because it list two SRVs, both
SRVs are the TRM 3.5.b low and medium function of LOW LOW SET
(LLS), these SRVs are the first to open on a pressure transient and
normally control reactor pressure in POST Scram transient, making them
plausible distracters.

Distractor C: This distractor is plausible because it list one SRV that is on
the RSP and the other SRV is a TRM 3.5.b low function of LOW LOW
SET (LLS). This distractor is wrong based on the other SRV is in the main
control room and if control is established at the RSP then the Emergency
transfer switch has been re-positioned to emergency position.

Distractor D: This distractor is plausible because it list one SRV that is on
the RSP and the other SRV is a TRM 3.5.b medium function of LOW
LOW SET (LLS). This distractor is wrong based on the other SRV is in the
main control room, and if control is established at the RSP then the
Emergency transfer switch has been re-positioned to emergency position.
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Reference: LOA-FX-101 UNIT 1 SAFE SHUTDOWN WITH A FIRE IN
THE CONTROL ROOM OR AEER rev 26
Reference provided during examination: None

K/A Number/IR: 295016 2.4.34 / SRO 4.1 RC 4.2
K/A Statement:Control Room Abandonment: Knowledge of RO tasks
performed outside the main control room during an emergency and the

resuitant operational effects.

Safety Function:
CFR 41.
PRA: No

Cognitive level: High comprehension of multiple facts

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

Questioniinfo

Question Type: Multiple Choice
Status: Active

Always select on test? |No

Authorized for No

practice?

Points: 11.00

Time to Complete: 0

Difficulty: 0.00

T10064

System ID:
User-Defined ID: 054.00.05.09
Cross Reference
Number:
Topic: 295016 2.4.34
KA: 295016 2.4.34
SRO: 4.1
RO: 4.2
Comments:
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Question 1 History -

O]

Exam Appearances:

Student Encounters:

Answered Right:
Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

(e){e]eo]le}{o]{e]} ]

Ignore Response:

o
ol
o

Avg Points Awarded:

o .

... As % of Point
Value:

Standard Deviation: 0.00

Associated objective(s):

Recall the function, theory of operation, interlocks, trips, and
characteristics of the following Remote Shutdown Panel components and
relate these items to overall system operation while operating the system
or on an exam in accordance with the student text:

RR Components
Service Water Components
RHR Service Water Components

a. Main Steam Components
b. RHR B Components

c. Transfer Switches

d. RBCCW Components

e. RCIC Components

f.

g.

h.
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Unit 1 is at 100% power when the following occurred.

1PM10J-A303 TURBINE BUILDING CLOSED COOLING WATER
(TBCCW) EXPANSION TANK 1WTO1T LEVEL LOW alarm is received
1PM02J B505 EHC MINOR alarm is received.

The following EHC work station alarms are received:

EHC LEVEL INCREASING OVER TIME

EHC RESERVOIR HI LEVEL

The operating crew will....

A. Swap EHC coolers and isolate the affected EHC cooler.
B. Swap EHC pumps, to isolate the online cooler.

C. Start the U-2 Station Air Compressor.
D.

Scram U-1 and close MSIV's.

Answer: A
Answer Explanation:

Explanation: The correct answer to swap EHC coolers and isolate the
affected cooler. A low TBCCW expansion tank level alarm annunciating
with a EHC Minor Trouble Alarm directs actions per LOP-EH-11 EHC
WORKSTATION ALARM RESPONSE AND OTHER INFORMATION
which provides direction to look for EHC cooler leaks.The cooler is located
on the low pressure drain side of system and TBCCW is at a higher
pressure and if there was a leak in the heat exchanger then the system
would leak into the EHC reservoir. With this information the candidate
should deduct a TBCCW leak into EHC condition is present.

Distractor B: This answer is plausible because other hydraulic systems at
LaSalle that use fryquel have features with an integrated coolers and
pumps on the same subloop, so that when the pump is swapped then the
cooler is also swapped. This distractor is wrong because the cooler for
EHC is on the low pressure drain side of the system, and itis on a
common return. Pump swapping is independent of the coolers.

Distractor C:This answer is plausible because it anticipates actions for a
loss of TBCCW and then losing the Unit 1 and U-0 station air
compressors. A loss of TBCCW should be avoided by directing actions to
swap coolers and other LOR actions are available to prevent the loss of
TBCCW. '
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Distractor D: This answer is plausible because it anticipates loss of station
air and a loss of EHC with the inability to use the bypass valves, but is
incorrect because the crews actions to swap cooler can prevent a loss of
EHC and TBCCW.

Reference: LOP-EH-11 EHC WORKSTATION ALARM RESPONSE AND
OTHER INFORMATION rev 18, LOR-1PM01J-A303 TBCCW
EXPANSION TANK 1WTO1T LEVEL LOW, LOR-1PM02J-B505 EHC
MINOR ALARM rev 4

Reference provided during examination: None

K/A Number/IR: 295018 A1.03 / RO 3.3 SRO 3.2

K/A Statement:Ability to operate and/or monitor the following as they
apply to PARTIAL OR COMPLETE LOSS OF COMPONENT COOLING:
AFFECTED SYSTEM so as to isolate damaged portions

Safety Function:

CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

LAS LICENSED OPS Page: 2 of 3 03 September 2014




Question 1 Info

Question Type: Multiple Choice
Status: Active
Always select on test? [No
Authorized for N

; o
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10065
User-Defined ID: 073.00.20.01

Cross Reference
Number:

Topic: 295018 A1.03
KA: 295018 A1.03
SRO: 3.4
RO: 3.3
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: [0.00
... As % of Point 0"
Value:
Standard Deviation: |0.00

Associated objective(s):

Recall the reasons for the EHC-Mechanical Systems' precautions and
limitations while operating the system or on an exam in accordance with

station procedures.
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.00.05.07

Unit 1 and 2 are at 100% power, U-2 was in the process of re-inerting, when the
following occurred

e A rupture of the 4" instrument air headers is reported.

(1) Without operator actions predict the response of the U-2 VQ air-operated
dampers?
(2) What is the containment isolation status of VQ dampers?

A. (1) Fail as-is
(2) Isolation capability maintained

B. (1) Fail closed
(2) Isolation capability maintained

C. (1) Fail as-is
(2) Isolation capability NOT maintained

D. (1) Fail closed
(2) Isolation capability NOT maintained

Answer: A
Answer Explanation:

Explanation: With the stated conditions, with a rupture of the 4"
Instrument air (IA) header the IA header pressure will depressurize after
several minutes.The dampers are designed to FAIL as is on a loss of IA.
When VQ valve loses air without a loss of power, a check valve in the air
supply line maintains system air pressure thus keeping the dampers in
their current position. The isolation capability is maintained for this damper
because control power is available to the solenoid on the operator.
Containment Isolation logic when actuated de-energizes the actuator
solenoid which would re-postion spool piece on the actuator and
depressurize the actuator and the damper would close. VQ damper
isolation capability is part of containment integrity.

Distractor B: This is a plausible distractor because this is a common
failure mode for air operated valves/dampers to fail open on a lost of
instrument air, the candidate is required to remember failure positions.

Distractor C: This is a plausible distractor because it states the correct
mode of failure on a lost of instrument air and test the candidates
knowledge of the VQ damper actuator operation.
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Distractor D: This is a plausible distractor because this is a common
failure mode for air operated valves/dampers to fail closed on a lost of
instrument air, the candidate is required to remember failure positions. It
also plausible if student does not understand how a VQ damper works
and if candidate confuses a VQ dampers as air to load closed similar to
the 1(2)B21-F032A/B feed water check valves which are containment
isolation valves and air load closed.

Reference: LP#93 Primary Containment Vent and Purge, Lesson Plan
#091 PCIS Primary Cojntainment Isolation System
Reference provided during examination: None

K/A Number/IR: 295019: K2.09 / SRO 3.3 RO 3.3

K/A Statement:Partial of Total Loss of Inst Air: Knowledge of the
interrelations between Partial or Total Loss of Instr. air and the following:
Containment

Safety Function:8

CFR 41.

PRA: No

Cognitive level: High 2 Rl Comprehension: Recognizing interaction
between systems

Level: RO

Tier:1  Group: 1

Question Source: New
Question History:

SRO Justification:N/A

Comments: This question meets the K/A because VQ containment
isolation dampers maintain containment integrity
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Question1info

‘I\L/Iyﬁ‘ltikple Choice

Question Type:
Status: Active
Always select on test? [No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: ).00 |
System ID: 10124
User-Defined ID: 093.00.05.07
Cross Reference
Number:
Topic: 295019: K2.09
KA: : 295019: K2.09
SRO: 3.3
RO: 3.3
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: [0.00
... As % of Point 0
Value:
Standard Deviation: {0.00
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Associated objective(s):

Recall the function, theory of operation, interlocks, trips, and
characteristics of the following VQ System components and relate these
items to overall system operation while operating the system or on an
exam in accordance with the student text:

a. Vent and Purge Filter Train

b. Liquid Nitrogen Storage Tanks

c. Nitrogen Storage Tank Pressure Buildup Circuit

d. Ambient Vaporizer

e. Water Bath Vaporizer

f. Purge Dampers and Valves

g. Supply-Makeup Selector Switch

h. Pressure Controller

i. Charcoal Filter Deluge Valves
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. ID:020002101  Points: 1.00

Unit 2 is in mode 4 with Shutdown Cooling (SDC) in operation.
¢ The Reactor Recirculation pumps are shutdown.
e Due to a spurious isolation of SDC, the system isolates and will NOT
reset.

Which one of the following is an operational requirement?

Monitor......
| A. to verify less than 25 gpm bottom head drain flow.
B. to detect if there is a loss of adequate core cooling.
C. for excess Reactor Recirculation Loop Delta temperatures.
D. for excessive thermal stresses between vessel bottom head and
vessel top head flange.
Answer: D

Answer Explanation:

Explanation: The correct answer is to monitor for stratification per step 13
of LOA-RH-201, the concerns as addressed by attachment "B" of this
procedure is excess heating in the upper vessel head area versus the
lower head area creating an excess thermal stress on the vessel.

Distracter A: This distracter is wrong but plausible because the number
comes from the Attachment "B" flow requirement and is to be greater than
25 gpm to allow for a more accurate reading of reactor vessel bottom
head drain flow which is used to determine stratification

Distracter B: This distractor is wrong but plausible because on a loss of
shutdown cooling temperatures are a concern but the first concern is
vessel stratification and not loss of adequate core cooling, adequate core
cooling is maintained due to core submergence

Distracter C: This distractor is wrong but plausible it comes from LOA-RR-
201 Section E.2 to monitor for RR loop delta temperatures, this procedure
may be addressed in this situation with no reactor recirc pumps in
operation, if procedure is followed correctly it would also lead the
candidate to monitor for stratification and perform a similar special log that
is used in this procedure.

Reference: LOA-RH-101 LOSS OF SHUTDOWN COOLING rev 18, LOA-
RR-101 REACTOR RECIRCULATION TROUBLE rev 33, LGA-001 RPV
CONTROL rev 33
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Reference provided during examination: None

K/A Number/IR: 295021 AK1.04 / RO 3.6 SRO 3.7

K/A Statement: LOSS OF SHUTDOWN COOLING: Knowledge of the
operational implications of the following concepts as they apply to LOSS

OF SHUTDOWN COOLING: Natural Circulation

Safety Function:4
CFR 41.
PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group:1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

Question 1 Info

Question Type: Multiple Choice
Status: Active

Always select on test? [No

Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 10069
User-Defined ID: 020.00.21.01

Cross Reference
Number:

295021 AK1.04

Topic:
KA: 295021 AK1.04
SRO: 3.7
RO: 3.6
Comments:
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sstion 1 Histo

m Appearances:

Exa

Student Encounters:
Answered Right:
Answered Wrong:
Partially Correct:
Answer Invalid:
Unanswered:

ore Response:

OO0 |O|O|O|O

Avg Points Awarded: {0.00
... As % of Point 0

Value:
Standard Deviation: [0.00

Associated objective(s):

Given various plant conditions, predict how the Reactor Pressure Vessel
and Internals System will respond to various system component failures
while operating the system or on an exam in accordance with student text.
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Correct Answer: The picture shows the 1A and 1B FC Exhaust Rad
Monitors with the HIGH lights on and reading 10 and 9 Mr/Hr respectively,
both ae above the 8 Mr/Hr Trip setpoint. The picture also shows the 1C
and 1D FC Exhaust Rad Monitors with the HIGH lights on and reading 10
Mr/Hr and 10 Mr/Hr respectively. This condition would result in
annunciator 1H13-P601-F205/E205 alarming,

Per LOR-1H13-P601-F205/E205, when both channels trip, RB Ventilation
inboard and outboard dampers close on both Units, secondary
containment vent and purge inboard and outboard dampers close on both
Units, both Unit 1 and Unit 2 VG trains start, but Only the primary
containment valves/dampers on the affected Unit close.

Distractor A: Per LOR-1H13-P601-F205/E205, both Unit 1 and Unit 2 VG
trains start. SBGT Trains start on both Units, but the second part of the
answer is correct, a group 4 isolation only closes primary containment
valves/dampers on the affected Unit.

Distractor B: Per LOR-1H13-P601-F205/E205, both Unit 1 and Unit 2 VG
trains start. Only the affected Units Primary containment isolation
dampers/valves and not both units.

Distractor D: Per LOR-1H13-P601-F205/E205, both Unit 1 and Unit 2 VG
trains start is correct but only Only the affected Units Primary
containment isolation dampers/valves close.

Reference: LOR-1H13-P601-F205 (& E205) Div 1 (& Div 2) FUEL POOL
RAD HI-HI, Rev. 4;

LGA-002, Rev. 6; LOP-CX-06 PRIMARY CONTAINMENT ISOLATION
STATUS DISPLAY rev 8

Reference provided during examination: None

KA Number: 295023, A2.01 / SRO 4.0 RO 3.6

Statement: Refueling Accidents; A2.01, Ability to determine and/or
interpret the following as they apply to REFUELING ACCIDENTS: Area
Radiation levels Cognitive level: Higher (2-DR)

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification:N/A

Comments:
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Learning Objective: 52.00.14 Given a Process Radiation Monitoring
System lineup and various plant conditions, evaluate system
indication/responses and determine if the indication/responses are
expected and normal while operating the system, or on an exam in

accordance with the student text and station procedures.

Question 1 Info

Question Type: Multiple Choice
Status: Active

Always select on test? [No

Authorized for No

practice?

Points: 1.00

Time to Complete: |10

Difficulty: 0.00

System ID: 10066
User-Defined ID: 052.00.14.04

Cross Reference

Number:

Topic: 295023 A2.01
KA: 295023 A2.01
SRO: 4.0

RO: 3.6
Comments:

Question 1 History
_Ig_xgm Appearances:

=]

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

__Ignore Response: _

 |o|ololo|olo|o

Avg Points Awarded:'m

.00

... As % of Point
Value:

0
0

Standard Deviation:

0.00
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Associated objective(s):

Given a Process Radiation Monitoring System lineup and various plant

‘ conditions, evaluate system indications/responses and determine if the
indications/responses are expected and normal while operating the
system, or on an exam in accordance with the student text and station
procedures.
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s

LGA-003 PRIMARY CONTAINMENT CONTROL is in progress:
' With regards to starting chamber sprays ONLY.
What is the impact of S_QMQNL_Y_Q_Qm_e_spjﬁ with suppression pool

water level between 723' and 723.5'?
A. Challenge containment integrity when using drywell sprays.
B. Inability to Quench steam may result in containment failure.

C. Limiting the scrubbing action of the suppression pool if venting
was required.

D. Hydraulic forces caused by chamber spray operation could
damage the SRV tail pipes.

Answer: B
Answer Explanation:

Explanation: If suppression pool level is above 723' suppression pool
level, the spray spargers would be submerged, and placing chamber

. sprays into operation would not provide the benefit of cooling the
atmosphere. This is required to condense any steam in the chamber and
to ensure that at 12# chamber pressure the chamber air space contains
95% of the Drywell atmosphere's nitrogen.

Distractor A: This answer is incorrect because the question ask
conceming chamber spray operation ONLY, this is plausible because it is
a concern if operating Drywell sprays at this elevation. The VQ vacuum
breakers will be partially covered limiting pressure equalization between
chamber air space and the drywell. In this condition if drywell sprays were
operated then high differential pressure could exist between the chamber
air space and drywell challenging containment integrity.

Distractor C: This answer is incorrect, at 724' suppression pool level,the
VQ vent damper opening start to become covered, and this would limit the
scrubbing action of the suppression pool, this limitation is addressed lower
in the LGA leg prior to venting the containment per LGA-VQ-02 to keep
pressure below the PCPL LGA-003 curves. The stem states level

between 723' and 723.5'

Distractor D: This answer is incorrect, at 723' suppression pool level, the
SRV tail pipes are submerged but the intent of the SRVTPL is limit

' hydraulic forces on the tailpipes from RPV blowdown, and not from
chamber spray operation. Answer is plausible because it is a limitation
from LGA-003 "PRIMARY CONTAINMENT CONTROL".
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Reference: LGA-003 PRIMARY CONTAINMENT CONTROL rev 14,
LGA-003 Lesson Plan pages 5,
Reference provided during examination: None

K/A Number/IR: 295024 A2.03/ SRO 3.8 RO 3.8

K/A Statement: High Drywell Pressure: Ability to determine and/or
interpret the following as they apply to HHGH DRYWELL PRESSURE:
suppression Pool Level

Safety Function:5
CFR 41.
PRA: No

Cognitive level: Membry

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History: N/A

SRO Justification: N/A

Comments:
Question 1 Info
Question Type: Multiple Choice
Status: Active
Always select on test? |No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10073
User-Defined ID: 064.00.14.12
Cross Reference
Number:
Topic: 295024 A2.03
KA: 295024 A2.03
SRO: 3.8
RO: 3.8
Comments:
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[Question 1 History
Exam Appearances:

o

Student Encounters:
Answered Right:
Answered Wrong:
Partially Correct:
Answer Invalid:
Unanswered:
Ignore Response:

[olololololo|o

Avg Points Awarded: [0.00
..As%of Point = |0

Value:
Standard Deviation: |0.00

Associated objective(s):

Given a Residual Heat Removal System operating mode and various
plant conditions, evaluate system indications/responses and determine if
the indications/responses are expected and normal while operating the
system, or on an exam in accordance with the student text and station
procedures.
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ID: 26.0001.01 © Points:1.00

The reason for the automatic actuation of Alternate Rod Insertion (ARI) on high
reactor pressure is to....

A. act in conjunction with the Recirculation pumps to prevent
exceeding the RPV pressure safety limit.

B. utilize the RPS trip units to provide an alternative vent path for the
scram air header as a backup to RPS.

C. anticipate a reactor scram and assists RPS by establishing
alternate vent paths for the scram air header.

D. act independently of RPS to establish alternate vent paths during
conditions that should have resulted in a reactor scram.

Answer: D
Answer Explanation:

Explanation: ARl is an independent system to RPS which utilizes separate
units to open multiple independent vent paths in the event reactor
pressure exceeds 1038 Reactor Scram setpoint. The ARI setpoint is 1143
psig which is sufficiently above the scram setpoint to minimize inadvertent
trips. o

Distracter A: This distractor is incorrect because the safety relief valves
will prevent challenging the RPV pressure safety limit

Distractor B: This distractor is incorrect because ARI uses separate trip
units from those used by RPS.

Distractor C: This distractor is incorrect because ARI actuation setpoints
are higher than the RPS actuation setpoints

Reference: LIS-NB-120A rev 12, ARI Lesson Plan #26
Reference provided during examination: None

K/A Number/IR: 295025 K3.06 / RO 4.2 SRO 4.4

K/A Statement: Knowledge of the reason for the following responses as
they apply to HIGH REACTOR PRESSURE: Alternate rod insertion
Safety Function: 3

CFR 41.

PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 1
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Queétion Source: New
Question History:

SRO Justification: N/A

Comments:

Question 1Info

Question Type:

TMultiple Choice

Status:

Active

Always select on test?

No

Authorized for
practice?

INo

Points:

1.00

Time to Complete:

0

Diffcuty:

_10.00

System ID:

10059

User-Defined ID:

26.00.01.01

Cross Reference
Number:

Topic:

205025 K3.06

KA.

295025 K3.06

SRO:

4.4

RO:

4.2

Comments:

|Question 1 History

Exam Appearances:

=) .

Student Enchntefs:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

Ignore Response:

|olo[o[olololo

AvQ Points Awarded: ]

O i
o

... As % of Point
Value:

o -

Standard Deviation:

0.00
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Explanation: Based on the graph if suppression pool level is lowered by
18 inches then it is not bounded(under the curve) by upper curve on the
graph. The operator has to use the lower curve on the graph. Then if
Suppression Pool Temperature is 221°F, Suppression Chamber Pressure
is 5 psig and suppression pool level is -14.5 feet these parameters would
place the candidate into the restricted region of the graph.

Distractor B: If pool is raised by 1 foot operation is still bounded by the
graph's curve, this distractor is plausible because it test the candidates
ability to read and understand the graph.

Distractor C: If pool temperaturé goes up by 4°F operation is still bounded
by the graph's curve. This distractor is plausible because it test the
candidates ability to read and understand the graph.

Distractor D: If Chamber pressure drops by 1 psig operation is still
bounded by the graph's curve. This distractor is plausible because it test
the candidates ability to read and understand the graph.

Reference: LGA-001 RPV CONTROL rev 14
Reference provided during examination: None

K/A Number/IR: 295026 K1.01

K/A Statement:Suppression Pool High Water Temperature: Knowledge of
the operational implications of the following concepts as they apply to
Suppression Pool High Water Temperature: Pump NPSH

Safety Function:5

CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier:1 Group: 1

Question Source: New
Question History: N/A -

SRO Justification: N/A

Comments:
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Question 1 Info

Multiple'Choice

Question Type:

Status: Active
Always select on test? [No
Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 10072
User-Defined ID: 1413.00.03.03

Cross Reference
Number:

Topic: 295026 K1.01
KA: 295026 K1.01
SRO: 3.4
RO: 3.0
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: [0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: |0.00
... As % of Point 0
Value:
Standard Deviation: [0.00

Associated objective(s):

Given plant conditions and LGA entry, compare and prioritize the use of

RPV injection systems, while operating the plant or on an exam, IAW the

LGAs.
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14 : ID: 420.00.01.01 Points: 1.00

Unit-1 was manually scrammed due to a small break LOCA in the primary
containment. The following conditions exist:

e Drywell pressure is 2.0 psig and slowly rising
e Drywell temperature is 215°F and slowly rising

Which one of the following identifies the operational implications of using LGA-
VP-01, "PRIMARY CONTAINMENT TEMPERATURE REDUCTION"?

A. Use of LGA-VP-01 is NOT acceptable; its use could cause
possible breach of the primary containment from water hammer.

B. Use of LGA-VP-01 is acceptable; it is required to reduce
containment temperatures to prevent level reference leg boiling.

C. Use of LGA-VP-01 is NOT acceptable; its use could cause
possible breach of the primary containment due to evaporative
cooling effect.

D. Use of LGA-VP-01 is acceptable; it is required to reduce
containment temperatures to preserve SRV solenoid operability.

Answer: A
Answer Explanation:

Explanation: Use of VP under these conditions is prohibited. The reason
is with a high drywell pressure, the VP system has isolated, with
temperatures above 212 degrees F. the water in the piping can boil lifting
the reliefs on the piping. The piping has the potential for voiding and if
system is un-isolated and restarted these actions may cause water
hammer and VP piping damage, and potentially creating a leak in the
drywell or a release path outside the primary containment.

Distractor B: This distractor is plausible because reference leg flashing is
a concern for elevated temperatures in the drywell, but is incorrect answer
based on LGA-003 PRIMARY CONTAINMENT CONTROL and the
precautions from LGA-VP-01 PRIMARY CONTAINMENT
TEMPERATURE REDUCTION.

Distractor C: This distractor is plausible because in a small break LOCA
scenario, drywell temperature is expected to get very high without a large
rise in containment pressure. With these conditions evaporative cooling is
a concern. This issue is addressed further down the temperature leg of
LGA-003 with the use of drywell sprays and using the "Drywell Spray
Initiation Limit" curve as a guideline, but is incorrect answer based on
directions from the LGA-003 and the precautions from LGA-VP-01.
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Distractor D: This distractor is plausible because in a small break LOCA
scenario, drywell temperature is expected to get very high and challenge
SRV solenoid operability. Actions to address this concemn is included
further down the temperature control leg, but is incorrect answer based on
the directions from the LGA-003 and the precautions from LGA-VP-01.

Reference: LGA-003 PRIMARY CONTAINMENT CONTROL rev 14, LGA-
VP-01 PRIMARY CONTAINMENT TEMPERATURE REDUCTION rev 8,

LGA-003 lesson plan.

Reference provided during examination: None

K/A Number/IR: 295028 G4.20/ RO 3.8 SRO 4.3

K/A Statement:HIGH DRYWELL TEMPERATURE: Knowledge of the
operational implications of EOP warnings, cautions and notes

Safety Function:5
CFR 41.
PRA: No

Cognitive level: High 2DR Describing or recognizing relationships

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

Question 1 Info

Question Type: Multiple Choice
Status: Active
Always select on test? [No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10076
User-Defined ID: 420.00.01.01
Cross Reference
Number:
Topic: 295028 G4.20
KA: 295028 G4.20
SRO: 4.3
RO: 3.8
Comments:
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Question 1 History

=

Exam Appearances:

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

OO0 |O|O|O|O

Ignore Response:

o
o
o

Avg Points Awarded:

o .

... As % of Point
Value:

Standard Deviation: [0.00

Associated objective(s):

Given LGA-003, Primary Containment Control, in progress, mitigate the
consequences if unable to restore and hold Drywell Temperature below
340°F while operating the plant or on an exam, IAW LGA-003.
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Explanation: With suppression pool level at -4.0', reactor pressure at 500#
and temperature of suppression pool of 200° F At this point, plant
parameters are above the pool level abnormal curve and per LGA-003
pool temperature leg if exceed the Heat Capacity Temperature limit a
blowdown is required

Distractor A: With suppression pool level at -0.5', reactor pressure at 500#
and temperature of suppression pool of 210° F At this point on the graph,
plant parameters are above the abnormal suppression pool level but still
within the bounds of the Heat Capacity Temperature limit and a blowdown
is not required

Distractor B: With suppression pool level at -8.0', reactor pressure at 500#

and temperature of suppression pool of 190° F At this point on the graph,
plant parameters are within the bounds of the Heat Capacity Temperature
limit and a blowdown is not required

Distractor D: With suppression pool level at +1.0', reactor pressure at

500# and temperature of suppression pool of 200° F At this point on the
graph, plant parameters are within the bounds of the Heat Capacity
Temperature limit and a blowdown is not required

Reference: LGA-003 PRIMARY CONTAINMENT CONTROL rev 14
Reference provided during examination: None

K/A Number/IR: 295030 K1.03

K/A Statement:Suppression Pool Water Level: Knowledge of the
operational implications of the following concepts as they apply to LOW
SUPPRESSION POOL WATER LEVEL: Heat capacity

Safety Function:5

CFR 41.

PRA: No

Cognitive level: High

Level: RO (Per M. Bielby ability to interpret charts is a RO responsibility)
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info

Question Type: Multiple Choice
Status: Active
Always select on test? |No
Authorized for N

; o
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10071
User-Defined ID: 421.00.04.01

Cross Reference
Number:

595030 K1.03

KA: 295030 K1.03
SRO: 4.1
RO: 3.8
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: [0.00
... As % of Point 0
Value:
Standard Deviation: |0.00

Associated objective(s):

Given plant conditions and LGA entry, recall the basis for each portion of
the Heat Capacity Temperature Limit curve and identify actions when limit
is exceeded, while operating the plant or on an exam, IAW the LGA

procedures.
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16 o s IbxMa0ces0e . Points: 1.00

Unit 2 was at 100% power with HPCS OOS
Then a LOCA with a loss of the SAT occurred.

e Drywell pressure is 3 psig
e RPV level is -30 inches and dropping 10 inches/minute
e RPV pressure is 900 psig and dropping 50#/minute

Assuming NO operator action at what reactor pressure would reactor water level
BEGIN TO RISE?

A. 800 psig
B 650 psig
C. 300 psig.
D 200 psig
Answer: C

Answer Explanation:

Explanation: The rate of reactor level drop is 2000 gpm, at 300 psig
reactor pressure the LPCS pump will be at its rated flow of 6350 gpm.
With LPCS at rated flow and level dropping at 2000 gallons/minute reactor
level would start to rise.

Distractor A: This distractor is plausible because 800 psig represent the
pressure that RCIC would start injecting into the vessel. This is calculation
is determined by calculating rate of reactor pressure drop versus the rate
of reactor level drop when it reaches the initiation setpoint of RCIC. This
answer is incorrect because RCIC injects at 600 GPM and reactor level
will still be dropping at 1400 gpm

Distractor B:This distractor is plausible because 650 psig represent the
shut off head of the condensate/condensate booster pumps but the
candidate has to understand that these pumps are not available. This
pressure is above the shut off head of the LPCI pumps and the LPCS

pump.

Distractor D: This distractor is plausible because 200 psig represent is
below the shut off head of the LPCI pumps. This distractor is incorrect
because when reactor pressure reaches 300# the LPCS pump will have
turned level first.

Reference: LGA-001 RPV CONTROL rev 14, TS 3.5.1 ECCS Operability
Reference provided during examination: None
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K/A Number/IR: 295031 A2.03/ RO 4.2 SRO 4.2

K/A Statement: ABILITY to determine and/or interpret the following as
they apply to REACTOR LOW WATER LEVEL: Reactor Pressure

Safety Function:2
CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

Question 1 Info

Multiple Choice

Question Type:

Status: Active

Always select on test? [No
Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 6946
User-Defined ID: 413.00.03.04
Cross Reference ‘
Number: CONTINUING
Topic: 295031 A2.03
KA: 295031 A2.03
SRO: 4.2

RO: 4.2
Comments:
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Question 1 History

S

Exam Appearances:

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

OO|0|0|I0|O|O

Ignore Response:

o
o
o

Avg Points Awarded:

o -

... As % of Point
Value:

Standard Deviation: 0.00

Question 1 Table-ltem Links
General Question Dat
Continuing
Higher

LaSalle

Associated objective(s):

LGA-001
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~ ID:049002102 @ Points: 1.00

An ATWS is in progress:

Reactor power is at 15%

The Mode switch is in shutdown

“A" RPS failed to actuate (Electrical ATWS)

ARl failed to actuate :

The SDV fuses were pulled per LGA-NB-01

The "A" RPS Fuses were pulled per LGA-NB-01, method 1 with some
control rod movement

The MCR has just been notified that jumpers are installed per LGA-NB-01
method 4.

What is the next required action?

A. Install Scram Solenoid fuses

B. Vent off the scram air header

C. Install SDV Vent and Drain Valves fuses
D.

Re-scram reactor using manual push buttons

Answer: C
Answer Explanation:

Explanation: Install SCRAM DISCHARGE VOLUME (SDV) Vent and
Drain fuses is the correct answer. With an electrical ATWS in progress,
fuses are pulled to complete the scram and then jumpers are installed to
bypass scram setpoints. The next action is to reset the scram and drain
the scram discharge volume. The correct method for resetting the scram
is to re-install the Scram Discharge Volume fuses per LGA-NB-01. To
expediate getting control rods inserted the operators will reset the scram
with the "A" scram fuses removed. The scram will reset with the "A" RPS
bus de-energized. This is important action because by performing these
actions in this order provides the operators with indication of the SDV vent
and drain valves. This help ensure that when the scram is reset that an
uncontrolled release of reactor water into the secondary containment via
the SDV vent and drain valves to the reactor building equipment drain
tank does not occur. The ROs are trained to take ownership of this task
and knowledge of step sequence is a required RO level of knowledge.

Distractor A: this answer is plausible because it is part of method 1, but is
incorrect based on LGA-NB-01 order of steps and Operators are trained
to leave the fuses removed with just one channel failure to de-energize.
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Distractor B: this answer is plausible because it is method 2 of LGA-NB-
01 but this action is incorrect because the scram air header is de-
pressurized because the fuses are pulled.

Distractor D: this answer is plausible because it is part of method 4 but is
not the right action because the fuses are still pulled for the SDV vent and
drain valves. These valves would not open to drain the SDV when the
scram is reset.

Reference: LGA-NB-01ALTERNATE ROD INSERTION rev 17
Reference provided during examination: None

K/A Number/IR: 295037: K2.01

K/A Statement:SCRAM Condition Present and Reactor Power Above
APRM Downscale or Unknown: Knowledge of the interrelationship
between SCRAM Conditions Present and Reactor Power Above APRM
Downscale or Unknown and the following: RPS

Safety Function: 1

CFR 41.

PRA: No

Cognitive level: High 3 SPK Solve a Problem using Knowledge and its
meaning Comprehension of how the scram reset circuitry works.

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:-
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Question 1 Info

Question Type: Multiple Choice
Status: Active
Always select on test? [No
Authorized for N
; o}

practice?
Points: 1.00
Time to Complete: 0 )
Difficulty: 0.00
System ID: 10062
User-Defined ID: 049.00.21.02
Cross Reference
Number:
Topic: 295037 K2.01
KA: 295037 K2.01
SRO: 4.3
RO: 4.2
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0

Answered Right: 0

Answered Wrong: |0

Partially Correct: 0

Answer Invalid: 0

Unanswered: 0

Ignore Response: |0
Avg Points Awarded: [0.00
... As % of Point 0
Value:
Standard Deviation: |0.00

Associated objective(s):

Given a Reactor Protection System Operating Mode and various plant
conditions, predict the Reactor Protection response to various system
component failures while operating the system or on an exam in

accordance with student text.
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Reference: LGA-009 Radioactivity Release Control rev 5, LESSON PLAN

LGA-009 RADIOACTIVITY RELEASE CONTROL
Reference provided during examination: None

K/A Number/IR: 295038 A1.01 /RO 3.9 SRO 4.2

K/A Statement:Ability to operate and/or monitor the following as they
apply to HIGH OFF-SITE RELEASE RATE: Stack-gas monitoring system.

Safety Function:9
CFR 41.
PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:

Question Ty, Multiple Choice
Status: Active
Always select on test? [No
Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 000
System ID: 10087
User-Defined ID: 400.00.01.03
Cross Reference

Number:

Topic: 295038 A101
KA: 295038 A101
SRO: 42

RO: 3.9
Comments:
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Question 1 History

o]

Exam Appearances:

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

O[O0 |0[O|0 |0

Ignore Response:

o
o
o

Avg Points Awarded:

o -

... As % of Point
Value:

Standard Deviation: 0.00

Associated objective(s):

Provided initial plant conditions, recognize LGA entry condition(s) and
enter the appropriate LGA flow chart, while operating the system or on an
exam, IAW LGA procedures.
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Which of the following describes the response of the Fire Protection system to
the activation of an ionization smoke detector in the cable spreading room (Pre-
action Sprinkler System)?

A. With FP piping dry and depressurized up to the sprinkler head, a
vial at the sprinkler head breaks from high temperature and Fire
Protection water immediately flows through the associated piping
and the sprinkler head.

B. A deluge valve is automatically opened, water inmediately sprays
the entire area.

C. A deluge valve is automatically opened, the vials at the sprinkler
head breaks from high temperature, and then air in the system will
depressurize out of the sprinkler head followed by water.

D. With FP piping filled with water up to the sprinkler head, a vial at
the sprinkler head breaks and Fire Protection water immediately
flows through the associated sprinkler head.

Answer: C

Answer Explanation:

Explanation:A deluge valve is automatically opened, and then the
sprinkler system piping is filled and pressurized with air and water up to
individual sprinkler heads held shut by vials that break at high
temperatures which releases trapped air and then spray to a localize area
on the fire.

Distractor A: This distractor is wrong, but is plausible because this
describes the operation of a type 3 deluge pipe system

Distractor B: This distractor is wrong, but is plausible because this
describes the response of a type 2 deluge valve system

Distractor D: This distractor is wrong, but is plausible because this
describes the operation of a wet pipe system

Reference: LOP-FP-03 rev 28 VIKING AUTOMATIC DELUGE VALVE
ACTUATION AND RESET, FP System Lesson Plan 125, page 31
Reference provided during examination: None

K/A Number/IR: 600000 K2.01

K/A Statement:Plant Fire On-site: Knowledge of interrelations between
PLANT FIRE ON SITE and the following: Sensors/Detectors and valves
Safety Function:8
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CFR 41.
PRA: No

Cognitive level: memory

Level: RO
Tier:1  Group: 1

Question Source: Bank

Question History:

09-1 Cert Exam by MAE.

SRO Justification: N/A

Comments:

Question 1 Info

Question Type:

Multiple Choice

Status:

Active

Always select on test?

No

Authorized for

practice? No

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 8509
User-Defined ID: 125.00.05.11
Cross Reference

Number- INITIAL
Topic: 600000 K2.01
KA: 600000 K2.01
SRO: 2.7

RO: 2.6
Comments:
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Question 1 History

o]

Exam Appearances:

Student Encounters:
Answered Right:
Answered Wrong:

Partially Correct:
Answer Invalid:

Unanswered:
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Ignore Response:

o
o
o

Avg Points Awarded:

o .

... As % of Point
Value:

Standard Deviation: 0.00

tion 1 Table-lte ink

General Question Data
Initial

LaSalle

Associated objective(s):

Recall the function, theory of operation, interlocks, and characteristics of
the following Fire Protection system components and relate these items to
overall system operation while operating the system or on an exam in
accordance with the student text:
a. Diesel fire pump
1. Fuel oil day tank
2. Fuel oil transfer pump
b. Valves
1.Water deluge
a. Transformer
b. Pre-action
2. CO2 pilot
3. Sprinkler heads
Fire detection sensors
CO2 hose reels
Jockey pumps
Intermediate fire jockey pumps

~oQo0
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2 1D 003.0021.02 S Pointe: 1.00

Operators are directed to secure the loads listed in LOA-GRID-001, “Low Grid
Voltage”, Attachment "A".

What is the reason for this action?

Attachment A loads are secured in order to prevent ...

A. exceeding the generator capability curve.

B. SAT damage in case of a Main Generator trip.

C. grid damage due to instabilities from low voltage.

D. off-site power from becoming inoperable with a Unit scram.

Answer: D

Answer Explanation:

Explanation: If below minimum Switchyard voltage and a LOCA with no
loss of off-site power occurs then the potential exists for the ESF buses to
trip off due to all the pumps starting and the resultant voltage drop causing
degraded voltage trips. Block Start calculations show that electrical
system will respond to a LOCA without a Loss of off-site power and will
remain connected to the Grid as long voltage is maintained above
minimum levels as specified. Certain station loads have been analyzed to
allow minimum voltage to be lowered if not in operation. Attachment "A"
provides direction for what loads are analyzed.

Distractor A: This distractor is plausible based the generator capability
curve uses voltage as one of the parameters monitored and a change of
voltage will affect location of operation on this curve.

Distractor B: This distractor is plausible because at reduced voltages the
current flow does increase and has the potential for adding heat to the
windings of the transformer but this is not the driver behind the use of
LOA-GRID-001.
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Distractor C: This distractor is plausible based on a generator tripping off-
line can cause Grid issues(e.g. system is under a RED load alert), and
this procedures directs calling the off-site power INOP if below the
minimum switch yard voltage, but this is not the driver behind the use of
LOA-GRID-001.

Reference: LOA-GRID-001 LOW GRID VOLTAGE rev 14
Reference provided during examination: None

K/A Number/IR: 700000 K 3.02

K/A Statement:Knowledge of the reasons for the following responses as
they apply to Generator Voltage and Electric Grid Disturbances: Actions
contained in abnormal operating procedure for voltage and grid
disturbances

Safety Function:6

CFR 41.

PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 1

Question Source: New
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info

Question Type: Multiple Choice
Status: Active

. Always select on test? [No
Authorized for N

X o

practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10094
User-Defined ID: 003.00.21.02
Cross Reference
Number:
Topic: 700000 K3.02
KA: 700000 K3.02
SRO: 3.9
RO: 3.6
Comments:

Question 1 History
Exam Appearances:

=

’ Student Encounters:
Answered Right:
Answered Wrong:
Partially Correct:
Answer Invalid:
Unanswered:
Ignore Response:

OO0 |0[0O|0|O

o
o
o

Avg Points Awarded:
... As % of Point
Value:

Standard Deviation: |0.00

O -

Associated objective(s):

Given various plant conditions, predict how the Switchyard System will
respond to various system component failures while operating the system
or on an exam in accordance with student text.
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Units 1 and Unit 2 are at 100% power with VR in a normal alignment, with the "A"
and "B" supply and exhaust fans running on both units, when the following
occurs:

e The 2B VR supply fan trips due to overload.

With NO operator action, select the statement describing which automatic
actions will occur and why?

A. The 2C VR Supply Fan auto-starts to keep the Leak Detection
instrumentation operable on Unit 2

B. The 2A and 2B VR Exhaust Fans trip to protect against excessive
negative Reactor Building pressure.

C. Both Units A and B Exhaust Fans trip to prevent excessive Dp on
Reactor Building interlock doors.

D. The 2C VR Supply Fan auto-starts to maintain the Reactor
Building air flow from lower to higher potentially contaminated
areas.

Answer: B
Answer Explanation:

Explanation: The exhaust fan trip due to interlock with differential
pressure, with two exhaust fans running, and one supply fan running
reactor building DP will continue to go down until the exhaust fan trip
setpoint of - 3 inches is reached. The design of reactor building ventilation
is to maintain reactor building negative and to prevent radioactive release.

Distractor A: The supply fans do have an auto start feature, but only after
the fans trip on excessive positive pressure in the reactor building, and
when pressure drops the fans will restart. When the reactor building fans
trip leak detection instrumentation will become inoperable due to the loss
of air flow. The inoperability of leak detection is addressed by entering
applicable Tech Spec action statement.

Distractor C: The exhaust fans do trip due to the interlock with differential
pressure, but the concern is excessive negative pressure on the reactor
building and not the effect on interlock doors into the reactor building.
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Distractor D: The supply fans do have an auto start feature but only after
the fans trip on excessive positive pressure in the reactor building.
Maintaining negative Dp is to prevent an uncontrolled release outside
secondary containment.This answer is plausible because reactor building
ventilation is designed for air flow to travel from potentially lower
contaminated areas to higher contaminated areas and this is
accomplished by combination of ventilation duct work, check dampers,
gravity shutters and building structure.

Reference: LOP-VR-01 OPERATION OF REACTOR BUILDING
VENTILATION rev 46, TS 3.6.4.1 Secondary Containment bases, Lesson
Plan #118 Reactor Building Ventilation

Reference provided during examination: None

K/A Number/IR: 295035 K3.02

K/A Statement: Knowledge of the reasons for the following responses as
they apply to SECONDARY CONTAINMENT HIGH DIFFERENTIAL
PRESSURE: Secondary containment ventilation response

Safety Function:5

CFR 41.

PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 2

Question Source: New
Question History:

SRO Justification: N/A

Comments:
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Questioniinfo e
Multiple Choice

Question Type:

Status: Active

Always select on test? |[No

Authorized for N

: o

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 10.00

System ID: 10088

User-Defined ID: 118.00.21.04

Cross Reference

Number:

Topic: 295035 K3.02

KA: 295035 K3.02

SRO: 3.5

RO: 3.3

Comments:

Question 1 History

Exam Appearances: |0

Student Encounters: |0
Answered Right: 0
Answered Wrong: [0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0

Avg Points Awarded: [0.00

... As % of Point 0

Value:

Standard Deviation: |0.00

Associated objective(s):

Given various plant conditions, predict how the Reactor Building
Ventilation System will respond to the various system component failures
while operating the system or on an exam in accordance with student text.
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 ID{031.00.18.02

Unit 2 is at 100% reactor power when the following occurred.
e One of the running feed pumps trip.

(1) Does the initial resultant transient bring the Unit closer to a
CARRYOVER or CARRYUNDER condition?
(2) What is the primary concern associated with this condition?

A. (1) CARRYUNDER
(2) Decrease in core plate Dp

B. (1) CARRYOVER
(2) Excess erosion of the head vents

C. (1) CARRYUNDER
(2) Reduction in Recirc Pump Net Positive Suction Head.

D. (1) CARRYOVER
(2) Excess moisture impinging the blades of the Main Turbine

Answer: C
Answer Explanation:

Explanation.CARRYUNDER and Loss of NPSH to the Recirculation
pumps is the correct answer. Lowering reactor level will cause a
CARRYUNDER effect and a loss of NPSH to Recirculation pumps is the
prime concern. In this scenario reactor water level will drop to less then
level 4 with associated alarm, with steam flow greater then feed flow and
with level 4 conditions present, reactor recirculation logic and RWLC logic
will run recirculation back to get 5% under the capacity of the feedpumps
or greater then level 4, to prevent a loss of NPSH to the reactor recirc
pumps.

Distractor A: Plausible because Lowering reactor level will cause a
CARRYUNDER effect, core plate Dp will drop with the level decrease but
it is not a major concern in this event.

Distractor B: CARRYOVER with excess erosion of the head vent is
incorrect but becomes plausible because there will be some overshooting
of reactor level by the RWLC system and the design basis of the system
per UFSAR is that RWLC system is designed to prevent CARRYOVER,
but because this overshoot of level is minor, and reaching reactor level 8
will not be challenged. Excess erosion of the head vent is plausible
because the head vent is maintained open during unit operation and if
carryover were to occur then water droplets would impinge on the head
vent and associated piping causing erosion.
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Distractor D: This is CARRYOVER with Excess moisture impinging the
blades of the main turbine is incorrect. CARRYOVER becomes plausible
because there will be some overshooting of reactor level by the RWLC
system and the design basis of the system per UFSAR is that RWLC
system is designed to prevent CARRYOVER but because this overshoot
of level is minor reaching reactor level 8 will not be challenged. Excess
moisture impinging the blades of the main turbine is a symptom of a
CARRYOVER condition making this part of the answer plausible.

Reference: UFSAR 7.7.4 Feedwater Control System Instrumentation and
Control, UFSAR Appendix "G" RR, RWLC Lesson Plan #31
Reference provided during examination: None

K/A Number/IR: 295009 K102 /RO3.0 SRO 3.1

K/A Statement:LOW REACTOR WATER LEVEL Knowledge of the
operational implications of the following concepts as they apply to LOW
REACTOR WATER LEVEL: Recirculation pump net positive suction head
Safety Function:

CFR 41.

PRA: No

Cognitive level: Memory

Level: RO
Tier: 1 Group: 2

Question Source: Bank
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info

Question Type: Multiple Choice
Status: Active

Always select on test? [No

Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 10080
User-Defined ID: 031.00.18.02

Cross Reference
Number:

Topic: 295009 K1.02
KA: 295009 K1.02
SRO: 3.1
RO: 3.0
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: [0
Avg Points Awarded: [0.00
... As % of Point 0
Value:
Standard Deviation: |0.00

Associated objective(s):

Given various plant conditions, predict the response of the following
supported systems to a loss of the Reactor Water Level Control System
while operating the system, or on an exam in accordance with station

procedures:
a. Reactor Recirculation
b. Feedwater
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 Points: 1.00

Given the following initial plant conditions:

¢ The Unit-1 reactor is being shutdown in accordance with the Normal
Shutdown procedure

The mode switch was placed in STARTUP from RUN.

NSO's were monitoring power on the IRM's.

All APRM downscale lights were lit.

Due to a leaking Safety Relief Valve (SRV), reactor pressure has dropped
from 920 psig to 700 psig

The control room operator reports that multiple Average Power Range Monitors
(APRMs) downscale lights have cleared and reactor power is rising on the
Intermediate Range Monitors (IRMs)

(1) Which of the following actions are you expected to take based on the above
conditions?
and
(2) What are the reason for these actions?

A. (1) Stop rod movements and range the IRMs to follow the power
change.
(2) To keep the IRM's reading between 19 and 75 on the
recorders

B. (1) Discontinue driving rods and manually scram the reactor.
(2) To prevent violating fuel clad integrity safety limit

C. (1) Stop rod movements and range the IRMs to follow the power
change.
(2) To prevent an IRM SCRAM

D. (1) Discontinue driving rods and manually scram the reactor.
(2) To terminate a recriticality event

Answer: D

Answer Explanation:

Explanation: Directions are given in the Shut down LGP-2-1 Reactor
Shutdown to perform the following "Discontinue driving rods and manually
scram the reactor" is correct. If the IRMs increase so that multiple APRM
downscales clear due to reactor cooldown, this is an inadvertent
recriticality event, the REASON for these actions is Recriticality can occur
if positive reactivity is added due to cooldown of reactor coolant with
control rods withdrawn, and is greater than the negative reactivity from

% control rod insertion.
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Distractor A: This distractor is plausible based on LGP-2-1 Caution
Statement, page 32 to stop rod insertion and range IRM's, but it only
applies if reactivity addition is under control. Keeping the IRM's on scale is
plausible because it is directed by LOP-NR-02 INTERMEDIATE RANGE
MONITORING OPERATION to keep IRM's between 19 and 75 on digital
indication on the recorders but not the correct action based on LGP-2-1
Step E.4.6.14.

Distractor B: This distractor is plausible because fuel clad integrity safety
limit is a concern at low power levels, with reactor pressure at 700#. This
distractor is wrong because the APRM's have just cleared the downscale
and power has to be greater than 25% to violate this safety limit.

Distractor C: This distractor is plausible based on LGP-2-1 Caution
Statement, page 32 to stop rod insertion and range IRM's, but it only
applies if reactivity addition is under control. Trying to prevent an IRM
scram is not correct although a likely outcome of the event and guidance
is given per LGP-2-1 to terminate the event, by ranging this only prolongs
the reactivity event.

Reference: LGP-2-1 Precaution C.3.3 page 5, Step E.4.6.14 page 33
Reference provided during examination: None

K/A Number/IR: 295014 K3.01 SRO 4.1/ RO 4.1

K/A Statement: Inadvertent Reactivity Addition: Knowledge of the reasons
for the following responses as they apply to INADVERTENT REACTIVITY
ADDITION; Reactor Scram

Safety Function:

CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 2

Question Source: New
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info

Question Type: Multiple Choice
Status: Active
. Always select on test? [No
Authorized for N
; o}
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 3983
User-Defined ID: 301.00.05.10
Cross Rfaference INITIAL
Number:
Topic: 295014 K3.01
KA: 295014 K3.01
SRO: 4.1
RO: 4.1
Comments:
Question 1 History
Exam Appearances: |0
' Student Encounters: |0
Answered Right: 0
Answered Wrong: [0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: |0.00
... As % of Point 0
Value:
Standard Deviation: |0.00
tion 1 Table-ltem Links

General Question Data

Continuing
Initial

LaSalle

. LORT Bank
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Associated objective(s):

‘ While operating the plant, operating the simulator, or on a written
examination, determine the reactivity control requirements during LGP 2-
1.
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 Points: 1.00

1D: 676.00.01.01

Due to a security event Both Units are shutdown with the following conditions:

. e Both Unit 1 and 2 SATs are NOT available.
e Both Unit 1 and 2 Division 1 and 2 DGs are NOT available.

Which of the following is the Preferred action to be taken to mitigate an off-site
release?

A. Line up B.5.b pump in Spent Fuel Pool Spray mode to directly
cool fuel assemblies per LOA-SY-004 EXTREME DAMAGE
MITIGATION STRATEGIES.

B. Line up FC pumps per LOA-FC-101 FUEL POOL COOLING
SYSTEM/REACTOR CAVITY LEVEL ABNORMAL to supply
cooling to the spent fuel pool.

C. Line up B RH in Fuel Pool Cooling Assist per LOP-RH-15 RHR
FUEL POOL COOLING ASSIST AND ALTERNATE FUEL POOL
COOLING MODES.

D. Line up B.5.b pump in Spent Fuel Pool Make Up mode to
maintain fuel assemblies submerged per LOA-SY-004 EXTREME
DAMAGE MITIGATION STRATEGIES.

Answer: D
Answer Explanation:

Explanation: Based on OPEX from Fukushima Daiichi accident, due to the
sustained station blackout the site experienced boiling in the fuel pools
with a subsequent hydrogen explosion and release to the environment. In
this question the candidate has to access that a Station Blackout exists
and then solve a problem with knowledge. LOA-SY-004 provides
guidance to mitigate the effects of a sustained station blackout and the
loss of fuel pool cooling. This procedure specifies the use of portable
diesel fire pumps and the preferred method Attachment "B", spent fuel
pool make-up for keeping the fuel pools covered and cooled.

Distractor A: This distractor is valid because its source is LOA-SY-004
EXTREME DAMAGE MITIGATION STRATEGIES procedure but it is the
alternate method of cooling the fuel pool to minimize release and not the
preferred method per this procedure.
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Distractor B: This distractor is valid because its source is LOA-FC-101
FUEL POOL COOLING SYSTEM/REACTOR CAVITY LEVEL
ABNORMAL he attachment from LOA-AP-101 Attachment K Station
Blackout Contingencies, directs the Operator to LOA-FC-101 for the loss
of cooling to the spent fuel pools, this LOA then directs use of fuel pool
cooling pumps from either Unit, but is incorrect because power will not be
available to the U-1/2 "A" or "B" fuel pool cooling pumps.

Distractor C: This distractor is valid because its source is LOP-RH-15
RHR FUEL POOL COOLING ASSIST AND ALTERNATE FUEL POOL
COOLING MODES, the attachment from LOA-AP-101 Attachment K
Station Blackout Contingencies, directs the Operator to LOA-FC-101 for
the loss of cooling to the spent fuel pools, this LOA then directs use of
LOP-RH-15, but is incorrect because power will not be available to the Div
2 RHR pumps.

Reference: LOA-SY-004 EXTREME DAMAGE MITIGATION
STRATEGIES rev 13, Reference provided during examination: None

K/A Number/IR: 295017 G2.4.9

K/A Statement:HIGH OFF-SITE RELEASE RATE Knowledge of low
power/shutdown implications in accident mitigation strategies.
Safety Function:9

CFR 41.

PRA: No

Cognitive level: High 3 SPK Solve a Problem using Knowledge and its
meaning

Level: RO knowledge, based on Basic requirements to know LOA-SY-
004 EXTREME DAMAGE MITIGATION STRATEGIES
Tier: 1 Group: 2

Question Source: New
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info
Question Type: Multiple Choice
Status: Active
Always select on test? [No
Authorized for N
; o

practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 10089
User-Defined ID: 1676.00.01.01
Cross Reference
Number:
Topic: 295017 G.2.4.9
KA: 295017 G.2.4.9
SRO: 4.2
RO: 3.8
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0

Answered Right: 0

Answered Wrong: |0

Partially Correct: 0

Answer Invalid: 0

Unanswered: 0

Ignore Response: |0
Avg Points Awarded: |0.00
... As % of Point 0
Value:
Standard Deviation: |0.00

Associated objective(s):

Demonstrate understanding of and required plant operations during
Security Abnormal and Extreme Damage Mitigation Procedures.
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Explanation: The Candidate has to make a diagnosis by monitoring the
parameters as shown on the question and then decide what action needs
to be performed. Performing the actions of the LOR for the tripped CRD
pump." is correct. When a CRD pump trips, Charging water pressure will
decrease. This will cause some accumulators to alarm on low pressure.
Drive water and Cooling water pressure will decrease. Cooling water flow
will drop to O gpm.

Distractor B: This distractor is plausible because some of listed conditions
in the stem are symptoms for loss of stab valves but CRD cooling water
flow would indicate approximately 63 gpm making this distractor incorrect.

Distractor C: This distractor is plausible because this could be a
symptoms of loss of power to the CRD instrumentation. With Indications
downscale on CRD meters could suggest power was lost to the
instrumentation and taking actions per LOA-RM-101 RCMS ABNORMAL
OPERATIONS would be correct but this distractor is incorrect due to lite
indication is still available on the drive water flow instrumentation.

Distractor D: This distractor is plausible because some of listed conditions
in the stem are symptoms for loss of Flow Control Valves but CRD
charging water pressure low makes this distractor incorrect.

Reference: LOR-1H13-P603-A204 CRD CHARGING WTR PRESS LO,
System Description 025
Reference provided during examination: None

K/A Number/IR: 295022 A1.01

K/A Statement: Loss of CRD Pumps: Ability to operate and/or monitor the
following as they apply to LOSS OF CRD PUMPS: CRD hydraulic system
Safety Function:

CFR 41.

PRA: No

Cognitive level: High

Level: RO
Tier: 1 Group: 2

Question Source: Bank
Question History:

SRO Justification: N/A

Comments:
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Question 1 Info

Question Type: Multiple Choice

Status: Active
Always select on test? |No
Authorized for N
; o
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 0.00
System ID: 760
User-Defined ID: 1025.00.21.07
Cross Rfaference INITIAL
Number:
L e e i
Topic: 295022 A1.01
KA: 295022 A1.01
SRO: 3.2
RO: 3.1
Comments:
General Data
Technical Reference Revisi
with Revision Number: on #:
Justification for Non
SRO CFR Link:
Question History: (i.e. | (New question
LGS NRC-05, OYS imported to CasOps
CERT-04) Exambank from the

2002-01 ILT
Certification Exam,
01/22/04, jer.)
(Changed Objective
Field from 2002-01
CERT EXAM 115 to
295022 AA2.02 001
to be consistent with
numbering of
NUREG 1021 quality
guestions, 04/23/05,
jer.)

2002-01 Certification
Exam

2003-01 Casualty
Ops Cert Level 01
(01/13/2005)
Question Source: (i.e. | Bank

New, Bank, Modified)

LAS LICENSED OPS Page: 30of 5 03 September 2014




Low KA Justification (if
required):

Revision History:
Revision History: (i.e.
Modified distractor “b”
to make plausible
based on OTPS
review)

ILT

Supplied Ref (If
appropriate): (i.e. ABN-
##)

Excluded Reference:
(i.e. Ensure ON-## not
provided)

Section: (i.e, A-
Systems or B-
Procedures)

LORT
PRA: (i.e. Yes or No or
#)
LORT Question

. ~ |Question 1 History

Exam Appearances:

=

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

Ignore Response:

|olo|olo|o|o]o

Avg PointsﬁAWard’édV:“

o iy
=

... As % of Point
Value:

o .

Standard Deviation:

0.00

Question 1 Table-ltem Links

General Question Data

Initial

. LaSalle
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Answer: A
Answer Explanation:

Correct Answer: + 4 inches from normal would raise SP level above the
LGA-003 PRIMARY CONTAINMENT CONTROL entry condition of +3
inches. The division 2 on the 1PM13J has a digital readout in inches.
Both division 1 and 2 suppression pool recorders are supplied for this
question, the candidate has to determine that only one recorder, the
division 2 will supply meaningful information due to the level rise. The
division 2 recorder has both a narrow and wide range band, the division
one recorder only has a wide range band, and is harder to detect the rise
in level on the wide range recorder.

Distractor B: Is incorrect because 4 inches as read on the Div 2 narrow
range recorder is a entry condition of LGA-003, If B RHR full flow test was
leaking by suppression pool level would not rise because it's source of
water from the waterleg pump is the suppression pool.

Distractor C: Is incorrect because 4 inches as read on the Div 2 narrow
range recorder is a entry condition of LGA-003, This option is selected
because mis-operation of the 1FC017 would cause the fuel pool to lower
but the water would return to the CY tank

Distractor D: + 4 inches from normal would raise SP level above the LGA-
003 PRIMARY CONTAINMENT CONTROL entry condition of +3 inches,
but this answer is incorrect because it would appear that a flow path
existed between the suppression pool and condensate storage tank with
both suction valves open and make plausible but level would not change
due to check valves in the system preventing the CY tank to drain with
both suction valves open.

Reference: OP-RH-07 SHUTDOWN COOLING SYSTEM
STARTUP,OPERATION, TRANSFER rev 71,
Reference provided during examination: None

Cognitive level: High

Level (RO/SRO): RO
Tier: Group: Tier 1  Group 2

KA Number: 295029 A2.01 / SRO 3.0 RO 3.9

Statement: Ability to determine and/or interpret the following as they apply
to HIGH SUPPRESSION POOL WATER LEVEL: Suppression Pool Water
Level

Question Source: New
Question History:

10 CFR Part 55 Content: N/A
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SRO Justification: N/A

Comments: None

Question 1 Info

Multiple Choice _

Question Type:
Status: Active
Always select on test? |No
Authorized for No
practice?
Points: 1.00
Time to Complete: 0
Difficulty: 000 ‘
System ID: 110107
User-Defined ID: 092.00.07.02
Cross Reference
Number:
Topic: 295029 A2.01
KA:; 295029 A2.01
SRO: 3.9
RO: 3.9
Comments:
Question 1 History
Exam Appearances: |0
Student Encounters: |0
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: [0.00
... As % of Point 0
Value:
Standard Deviation: |0.00
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Associated objective(s):

Given the following Containment Monitoring System key parameters,
recall the physical location of indicators, local and remote that monitor
those parameters and describe the sensor location while operating the
system, during abnormal conditions, or on an exam in accordance with
the student text.

a. Oxygen Concentration

b. Hydrogen Concentration

c. Drywell Temperature

d. Drywell Pressure

e. Suppression Chamber Temperature
f. Suppression Chamber Pressure

g. Suppression Pool Temperature

h. Suppression Pool Level

i. Containment Flood Level

j- Particulate and Noble Gases

k. Drywell Radiation

I. Post-LOCA Heat Trace Temperature
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1D:091.000802 . Points:1.00

Within the Secondary Containment what is the total number of PCIS group
isolations that will occur on high area temperature?

(Do NOT include isolations that occur solely due to high delta temperatures)?

A 2 PCIS groups
B 3 PCIS groups
C. 4 PCIS groups
D

5 PCIS groups

Answer: A
Answer Explanation:

Correct Answer: There are 2 groups that isolate on high area temperature,
and they are Group 5 Reactor Water Clean UP and Group 8 RCIC

Distractor B: Homogeneous distractor Candidate is required to remember
areas and associated groups that isolate on high area temperatures.

Distractor C: Homogeneous distractor Candidate is required to remember
areas and associated groups that isolate on high area temperatures.

Distractor D: Homogeneous distractor Candidate is required to remember
areas and associated groups that isolate on high area temperatures.

Reference: LOP-CX-06 PRIMARY CONTAINMENT ISOLATION STATUS
DISPLAY rev 8
Reference provided during examination: None

K/A Number/IR: 295032 K2.06 /RO 3.3 SRO 3.4

K/A Statement:Knowledge of the interrelations between HIGH
SECONDARY CONTAINMENT AREA TEMPERATURE and the following:
Area Temperature monitoring system

Safety Function:5

CFR 41.

PRA: No

Cognitive level: High 3-CSN Involves multi-part mental process of
assembling, sorting, or integrating the parts

Level: RO

Tier:1 Group:2

Question Source: Bank
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Question History: 2001
SRO Justification: N/A

Comments:

NRC Duane Arnold

[Question 1 Info

“Multiple Choice _

Question Type:
Status: Active
Always select on test? [No
Authorized for No
practice?
Points: 1.00
Time to Complete: 10
Difficulty: 0.00
System ID: 10111
User-Defined ID: 091.00.08.02
Cross Reference
Number:
Topic: 295032 K2.06
KA: 295032 K2.06
SRO: 3.4
RO: 3.3
Comments:
[Question 1 History
Exam Appearances: |0
Student Encounters: |0 ]
Answered Right: 0
Answered Wrong: |0
Partially Correct: 0
Answer Invalid: 0
Unanswered: 0
Ignore Response: |0
Avg Points Awarded: |0.00
... As % of Point 0
Value:
Standard Deviation: |0.00
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Associated objective(s):

Recall the signals that cause a Primary Containment Isolation System
automatic actuation, including purpose, setpoints, logic, how and when
bypassed, how reset and the system response while operating the system
or on an exam in accordance with procedures/student text.
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With the 1A RHR system operating in the LPCI injection mode with an ECCS
signal present, a TRIP of the Common Diesel Generator Cooling Water Pump
. will directly result in which of the following?

A. The 0 DG will trip on high coolant temperature.

B. The A RHR pump room ambient temperature will be higher than
expected due to the loss of cooling water to the area coolers.

C. The A RHR pump seal temperatures will be higher than expected
due to the loss of cooling water to the seal coolers.

D. The A RHR pump motor bearing temperatures will be higher than
expected due to the loss of cooling water to the motor cooler.

Answer: B
Answer Explanation:

Correct Answer: The A RHR pump room ambient temperature will be
higher than expected due to the loss of cooling to the area coolers.

Explanation: This is correct answer as the 0 DG cooling water pump
‘ supplies cooling water to the area coolers.

Distractor A: The 0 DG tripping on high coolant temperéture is incorrect
as the high temperature is bypassed on an ECCS signal but is plausible
because if no ECCS signal would trip the DG.

Distractor C: The A RHR pump seal temperatures will be higher than
expected due to the loss of cooling water to the seal coolers is incorrect.
When the pump is operating in LPCI mode the source of water is the
suppression pool which does not require cooling pump seal cooling

Distractor D: The A RHR pump motor bearing temperatures will be higher
than expected due to the loss of cooling water to the motor cooler is

incorrect as the A RHR pump motor does not have a motor cooler. LPCS
in the same division and DOES have a motor cooler making this plausible

Reference: Lesson Plan #65 CORE STANDBY COOLING SYSTEM
(CSCS), Lesson Plan #11 Emergency Diesel Generator
Reference provided during examination: None

K/A Number/IR: 203000 K6.10 / RO 3.0 SRO 3.1

‘ K/A Statement: Knowledge of the effect that a loss or malfunction of the
following will have on the RHR/LPCI: INJECTION MODE: Component
Cooling Water System
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Safety Function: 3.2 Reactor Water Inventory Control

CFR 41.
PRA: No

Cognitive level: High

Level: RO
Tier: 2 Group: 1

Question Source: Bank

Question History: LaSalle 07-01 NRC ILT Exam

SRO Justification: N/A

Comments:

Question 1 Info

Question Type: Multiple Choice
Status: Active

Always select on test? |No

Authorized for No

practice?

Points: 1.00

Time to Complete: 0

Difficulty: 0.00

System ID: 10112
User-Defined ID: 065.00.18.01

Cross Reference
Number:

Topic: 203000 K6.10
KA: 203000 K6.10
SRO: 3.1

RO: 3.0
Comments:
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Question 1 History

o]

Exam Appearances:

Student Encounters:

Answered Right:

Answered Wrong:

Partially Correct:

Answer Invalid:

Unanswered:

O|O0|O0|O0|0|O |0

Ignore Response:

o
o
o

Avg Points Awarded:

o -

... As % of Point
Value:

Standard Deviation: 0.00

Associated objective(s):

Given various plant conditions, predict the response o<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>